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QUESTIONS ON FREUD’S THEORY

QUESTION 1

Freud's view of humankind 1s partly hased on the assumption of brological and psychic delermmsm This
means that

(1) the person s constantly caught up in physical principles of energy consumption, conservation and
transformation

{2) human drives are physiologically based and rooted within the body and that the conflict which
determines behaviour, takes place within the psyche

(3) the personis caught up in a constant conflict between his or her sexual and aggressive drives and the
demands of society

(4) human drives are constantly in conflict with the hiological and psychic factors which determine
behaviour

QUESTION 2

Freud divides life drives into two types, namely (a) _ which ensure the continued existence of the (b)___,
and {¢)____, which ensure the continued existence of the (d)____

(1) {(a)erosdrives (b)species (c) thanatos drnives  {d) death drnive

{2) (a)d drives (b) pnmary needs {c) ego drives (d) secondary needs
(3) (a)egodnves (b)ego {c) sexual dnves {d)d

(4) (a)egodnves (b)individual (c) sexual dnves (d) species
QUESTION 3

Thabo got out of the wrong side of the bed one morning He was feeling highly imtable and attacked
everybody verbally During the day, he accused tus wife, children and colleagues of being impatient and of
attacking him verbally all the time What defence mechanism i1s Thabo using according to Freud?

{1) Projection

(2) Ratonalisation

{3) Displacement

(4) Reaction formation

QUESTION 4

According to Freud, one of the differences between healthy and psychelogically disturbed people i1s in the
types of defence mechanisms the two employ to cope with psychic conflicts Compared to disturbed
indviduals, psychologically healthy people are more successful at employing the defence mechanisms of

) displacement and rationalisation

} displacement and sublimation

) reaction formation and sublimation
) identification and rationalisation
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QUESTION &

Complete the following sentences The ego functions according to the (a) and the (b)
This means that the ego (c)

{1) (a) pnmary process (b} realty principle {(c) finds suitable pnimary reinforcers to satisfy the «d's
drives by taking the physical, social and moral reality into account

(2) (a) secondary process (b) reality principle (¢} finds suitable objects for drnive satisfaction by planning
and evaluating situations, and by taking the physical and social reaiity into account

(3) (a) pnimary process (b} pleasure principle (c) seeks immediate and complete satisfaction of the
d's drives without considenng anything but the 1d's iImmediate pleasure

{4) (a) secondary process {b} moral principle (c) find suitable objects for drnive satisfaction by planning
and evaluating situations, and by taking the conscious and the ego-ideal of the superego into account

QUESTION 6

Mr Anderson 1s descrnbed by his colleagues as a perfectionist and a shrewd businessman who has an
amazing knack for saving his company vast sums of money He i1s methodical, organised and meticulous
According to Freud, Mr Anderson could be descnbed as having what type of personality?

}  anal personality

} genital personality
) oral personality

}  latent personality

{1
{2
3
{4

QUESTION 7

Which of the following statements about Freud's theory of defence mechanisms 1s/are correct?

{a) Defence mechanisms are strategies used by the id to gain satisfaction for a forbidden drive, and as
such they operate on the unconscious level

(b) Rationalisation is a more useful defence mechanism than projection as it cperates consciously and
therefore reduces excess psychic energy more effectively

(c) Defence mechanisms are used to strengthen a weak ego and are therefore not necessary when the
€qo 15 strong

{d) Sublimation is the most effective defence mechanism as it expresses the unacceptable drive in the
least distorted and socially acceptable way

The correct answer 1$

(1) (d)
(2) (a)&(d)
() (b}&(c)
4y (a)
QUESTION 8

You have some painful expenences that you unconsciously block from entering your consciousness
because they are too painful for you to handie Which defence mechanism/s are you using in this process?

} Demnual and resistance
}  Sublimation

) Repression

}  Reaction formation
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QUESTION 9

After the divorce of his parents and the trauma of being left with his penniless mother while his father took
off with his mistress, five-year-old Johnny, who was toilet trained when he was two, began wetting hus bed
The Freudian analyst, whom Johnny's mother consults for help, will most ikely explain Johnny's behaviour
as

(1) regression and fixation as a result of feeling overwhelmed by anxiety

(2) the repression of sexual feelings towards his mather now that the nival figure of the father is out of
the way

(3) the sublimation of aggressive feelings towards the father who left them

(4) the projechion of castration anxiety in the act of wetting his bed

QUESTION 10

In the face of a patholegical outhreak of crime and viclence such as we are expenencing in South Africa
today, Freud most probably would have suggested that we

(a} provide socially acceptable avenues for the discharge of aggressive energies in the promotion of, for
example, competitive types of sport

(b) strengthen moral prescriptions against violence to make its expression less acceptable

(c} wiew these phenomena as the healthy release of the death drive and as conducive to society In the
iong run

(d) come to terms with the fact that the aggressive inclination I1s part of human nature and that we can
only hope to curb but never to eliminate it

The correct answer is

) All of the above
) {c)&(d)
% (a), (b) & (d)

(
(
(
(4) (@&(b)

1

2

3

4

QUESTIONS ON THE SOCIAL COGNITIVE LEARNING APPRCACH

QUESTION 11

Bandura's theory of reciprocal determimism can best be characterised as

(1) a positvistic approach that relies on environmental determinism

(2) a social behavioural approach In which the immediate social context determines an individual’s
behaviour

(3) acognitive approach in which cognitive, subjective and environmental factors determine behaviour

(4) aninteractional approach in which an interplay between the environmental, personal and behavioural
factors determine behaviour
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QUESTION 12

Jack's Mathematics teacher clearly indicates the sechons that he should study for his Mathematcs
examination However, Jack decides to learn the sections he thinks are important Unfortunately, he fails his
examination at the end of the year He realises that he has only himself to blame and decides that in future
he will pay more attention to what his teacher highlights According to Rotter, Jack has (a) ___, which
means that Jack (b) ___

M
(
2
(
3 |
(
(
(

y an external locus of control

Vbelieves that his tife 1s controlied by crcumstances beyond his control
) an internal locus of control

Ybelieves that his decisions influence his Iife negatively or positively

) low self-efficacy

Yhas Iittle confidence in his teacher

)} a self-reflective capability

ynow believes that his teacher knows best

a
b
d
b
a
b
(4 {a
b

QUESTION 13

Susan plays hockey for her school's first team The coach of the provincial team cobserves her play, and
invites her to play for the provincial team Susan declines the offer because she does not think that she 1s
good enough According to Bandura's theory, {a) ___ plays an important role in Susan’s decision This
means that (b)

(1) (a) self-regulation
(b) Susan has to regulate her behaviour If she plays for the provincial team, she will neglect her
school team
(2) (a) expectancy
{b) Susan's schoolmates expect her to play for their team
(3) (a) self-efficacy
{b) Susan does not have confidence in her ability to play hockey well enough for the provincial team

{4) (a) internal locus of control
{b) Susan does not allow an external person like the coach, to decide for her what she should or
should not do

Read the followng story carefully and in terms of social cognitive leaming theory answer Questions 14 fo
16, which are based on this story

will, Jeffrey and Paula are all accomplished musicians, but acquired their musical skills in different
ways Will learned te play the violin by taking music lessons from a teacher The music teacher
praised him when he played well and corrected him when he made mistakes  Jeffrey, on the other
hand, did not take any music lessons, but learned to play the piano by watching his sister play He
noticed when his mother corrected his sister and was very impressed when she participated in music
competitions and won prizes Finally, Paula learned to play the guitar from instructions in a book
Paula practised by herself, corrected herseif when she made mistakes, and felt a surge of pride in
herself when she played correctly
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QUESTION 14
Wil learned to play the violin through (a) . whereas Jeffrey learned to play the piano through
{b) , and Paula learned to play the guwitar through (c)
(1) (a) ochservational learning (b) direct expenence

{c) participant modelling
(2) (a) self-regulation (b) vicarious reinforcement

{c} observational learming
{3) (a)direct expenence (b) observaticnal learning

(c) self-regulation
(4) (a) direct learning (b) partictpant modelling

(c) direct learning
QUESTION 15
In the example above, Jeffrey 1s the {(a) . Jeffrey's sisteris the (b) , and Jeffrey's mother 1s
the (¢)
(1) (a) model {b) reinforcement agent

(¢) observer
{2) ({(a) observer (b) model

{c) reinforcement agent
(3) (a) model (b) observer

(cy remforcement agent
(4) (a) reinforcement agent (b) model

(c) observer
QUESTION 16

Paula sense of pride in her achievement refers to

1) external self-reinforcement
2} internal self-reinforcement
3) dwect reinforcement

4}  wicanous renforcement

QUESTION 17

One morning, as Kim's father 1s driving her to school, he notices a dog lying on the side of the road He
stops and approaches the dog that 1s very badly wounded He returns to the boot of his car and fetches a
box into which he can put the dog He gently picks the dog up and places 1t in the box He takes the dog to
the vet who Is very impressed at Kim's father's kindness When Emily, one of Kim's friends, falls off the
Jungle gym at school, Kim s the first one to reach her She gently helps her up and takes her to the teacher
In terms of social cognitive learning theory, Kim's kindness to others who are in need 1s an example of

(1) imitation

(2) counter-mitation
{3)  modelling

(4) generalisation
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QUESTION 18

Manianne 1s a student of psychology and worked very hard to pass the course in Personology After
discovernng that she had passed with a distinction, she buys herself a new dress Her parents are also very
pleased and invite her to a meal in an expensive restaurant  The dress Mananne bought can be viewed as
{a) , while the meal her parents treated her to as (b)

(1) (a) nternal seif-reinforcement (b) vicanous reinforcement
(2) (a) internal self-reinforcement (b) external reinforcement
{3) (a) external self-reinforcement (b) vicarious reinforcement
{4) (a) external self-reinforcement (b) direct reinforcement

QUESTION 19

Which of the following individuals 1s an optimally functicning person according to the social cognitive
learning approach?

Peter succeeds in producing behaviour that meets his own standards
John sees himself as he really 15 and his self-concept 1s in accordance with his actual potential
Joe neither overestimates nor underestimates his own abilities

a
b
c
d Mary has an internal locus of control, a feature that 1s regarded as desirable in her culture

(
(
(
(

The correct answer Is

(1) Peter

{2) John

{3) Peter, Joe and Mary
{4) Peterand Joe
QUESTION 20

According to the social cognitive learning approach, people develop charactenstic styles in their attempts to
explain the events in therr environments |dentify the styles used by Stephen in the following scenano

Stephen has lost his job He biames himself for it and feels that he 1s a complete failure [(a) a/an ___style]
He beiieves that he 1s too bad tempered and impatient to keep any job, and that he will always be like that
[(b)ya ___ style] His whole life 1s disrupted, and he believes that he will also lose his house, his car and his
wife [(c) a ___ style]

(1) (&) external {b) global {c) hmited
(2) ({a)nternal {b) stable (c) global
(3) (a) helpless (b transient  (c) global
{4y (a)internal (b) stable (c) helpless

[TURN OVER]



9 PYC2601
Oct/Nov 2017
QUESTIONS ON MASLOW’'S THEORY

QUESTION 21
Which one of the following statements correctly reflects Maslow's view of the self-actualised person?

{1) Self-actualisers are sociable people who like to have constant contact with other people

(2) Self-actualisers are achievers who will use any means to reach the high goals they have set
themselves

(3) Self-actualisers function relatively independently of their physical and social environment

(4) Self-actualisers tend to be autocratic since they are functioning on a higher level than most people
are

Read the passage that folfows and answer Questions 22 and 23

Minam was a famous singer who performed before large audiences, both nationally and
internationally As a child, she sang before she talked' She always loved singing and, as an
adult, it gave her great pleasure to share her talent with others However, after her husband
and chiid were tragicaily killed in a car accident, Minam lost all interest in her career Like a
child, she wanted to be held and comforted She moved back home with her parents, whom
she dearly loved, and clung to her memones of her husband and child

QUESTION 22

According to Maslow, the needs Minam was meeting before the tragic death of her husband and child,
are called (a) ___, whereas the needs she was expenencing after the death of her husband and child,
are known as (b)

(1)
{2)
{3)

(4)

meta- or extninsic needs

deficiency or basic needs, also known as intrinsic needs
lower or core needs, also known as foundational needs
drive-motives, also known as the stronger needs
congruency needs

survival needs

meta-needs or B-values, also known as growth-motives
deficiency or basic needs

U

TNTLO T oD
o e W N W N e e

QUESTION 23

According to Maslow, Minam could not have reached such a level of success and self-fulfilment in her
career as a singer If the following basic needs were not sufficiently met

a) self-actualisation needs
b) self-esteem needs

c) affilation and love needs
d) creativity needs

The correct answer Is
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QUESTION 24

Which of the following statements are true in terms of Maslow’s theary?

(@) The lower the need in the hierarchy, the more urgent it 18, which means that lower needs must first
be gratified before needs at a higher level manifest themselves

(p) Deficiency motives are directly related to the basic needs for survival, the gratification of which
brings about a decrease tn tension

{c) When a person’s behaviour 1s directed by defictency motives, his or her cognitive abilities are
actually appled negatively because the cbjective is to avord unpieasant situations

{d) Once a persen has reached a higher level of functioning, this does not mean that lower needs will
never be expenenced again

The correct answer 1S

QUESTION 25

The fact that Minam gave full expression to her talent as a singer and enjoyed sharing her talent with
others, would, according to Maslow’s theory, pomnt to a functioning on the level of ____

(1} self-esteem needs

(2} affihation and love needs
(3) safety needs

(4) self-actualisation needs

QUESTION 26

Which one of the following statements regarding Minam’s functioning 1s correct, according to Maslow's
theory?

(1Y Miram's return to an earlier mode of functioning can be regarded as temporary, since she has
already successfully functioned on a higher level

{2) The less of all interest in her career and her overwhelming needs at the present moment are
indicative of the fact that Minam's basic needs were never really met

{3) Minam's present quest for safety and for the warmth of the love of her parents, 1s hindering her
actualisation tendency and 1s in conflict with her organismic potentia

(4) Minam's regression to a lower level of functioning provides proof of fixation at this level during her
childhood years

QUESTION 27

Andrea i1s a successful businesswoman She s confident, at peace with herself, satisfied with her life
and comfortable with who she 1s Which one of the following charactenstics from Maslow's critena for
optimal functioning fits with the above scenano?

(1)  Exclusiveness

(2) Self-acceptance

{(3) The democratic character structure
(4) Task involvement
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QUESTION 28

According ta Maslow, which of the following are charactenstics of self-actualisers?

a) Honesty and freedom

by Conventionality and trust

¢) Awareness and creativity

d) Egocentricity and enthusiasm

(
(
(
(

The correct answer 1

(1) (a). (b &(c)

(2) (a), (c) &(d)

(3) (a)&(c)

(4} All of the above

QUESTION 29

The satisfaction of lead(s) to tension reduction, accarding to Maslow
(1) the need for self-actuaisation

{2) growth motives

{3) deficlency motives

(4) deficit and growth motives

QUESTION 30
Which of the following statements concerning Maslow’s theory 1s correct?

(1) A state of complete satisfaction 1s attainable when all basic needs are met

{2y Gratification of safety needs 1s essential before physiological needs can be satisfied

{3) Lower order needs must be satisfied at least on a regular basis before higher order needs come
to the fore

{4) The most basic needs which underhes all functioning Is the need to be accepted by others

QUESTIONS ON ROGERS’ THEORY

QUESTION 31

According to Rogers’ theory, conditions of worth

are desirable because they Indicate what makes a person acceptable to others
convey the conditions under which a person I1s Judged to be worthy of acceptance

are the aspects which indicate a person's worthiness
are essential In the development of a state of congruence

S St St et

1
2
3
4

P
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QUESTION 32

Which one of the following statements reflects what Rogers could have said to Freud regarding Rogers’
view of the person?

(1) Dr Freud, | cannot agree with you that a person 1s pushed and pulled by forces beyond histher
control, but | agree that people are inherently evil and sinful

(2)  Dr Freud, | agree with you that people sometimes behave irrationally and destructively, but then |
believe that they are not behaving in accordance with therr true natures

(3) Dr Freud, | agree with you that pecple are basically driven by thewr selfish desires, because my
work, like yours, 1s based on my experiences in working with emotionally disturbed people

(4) Dr Freud, | cannot agree with you that people are born bad | believe that they are like blank
slates How they turn out depends on their positive or negative experiences

QUESTION 33

Pumi wants to be a good mother Her view of a good mather is of someone who dedicates all of her time
and energy to her child While she would love to continue her studies in art, as she really wants to become a
professional painter, she decides to give this up in order to devote herself to her newly born baby According
to Rogers' view on the actualising and self-actualising tendencies, Pumi is

(1) realising her true womanly potential as a mother and therefore demonstrates the actualising tendency

(2) stoving for the utmost development of her potential and therefore demonstrates the self-actualising
tendency

(3) acting upon her view of what a good mother should be and therefore demonstrates the self-
actualising tendency

(4) realising only part of her total potential and therefore demonstrates the actualising tendency

QUESTION 34

Tracey has a burning desire to be a jockey, but follows her father's advice that this is not a career for a
woman and studies to become a doctor instead According to Rogers, it 1s possible that whenever Tracey
goes near horses she may

(1} become consciously aware of the incongruence that exists between her concept of herself as a doctor
and her actual desire to be a jockey

(2) deny or distort her desire to be a jockey in order to make it fit with her concept of herself as a doctor

(3) deny or distort her desire to be a jockey so that a state of congruence can exist between her seif-
concept and organismic petential

(4) become consciously aware that her concept of herself as a doctor can also accommodate her desire
to be a jockey
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QUESTION 35

Julia sees herself as a competent person who I1s afraid of nothing Experiences that make her fearful
are therefore very threatening to her self-concept, and she picks up these expenences on an

unconscious level through the process of (a) When she I1s hijacked she can no longer (b)
her fearful feelings, with the result being that she I1s now able to {(c) fearful experiences at
the (d} level

Select the option below that most accurately completes the sentences above according to Rogers'
theory

(1) (a) demal {b) symbolise (c) consciously experience  (d) subception
(2) {(a) symbohzation {b) deny {c) subcept (d) consclous
(3) ({a) subception (b) deny {c) symbolise {d) consclous
4y {a)subception {b) symbolise (c) deny {d) conscious
QUESTION 36

In terms of Rogers’ theory, the self-concept

(1) 13 a littie man in the head which controls the person’s behaviour

(2) s the picture a person has of mim- or herself and the vaiue a person attaches to him- or herself

{3) includes both consclous as well as unconscious expernences

(4) s fixed which ensures that a person will experience him- or herself as the same person throughout
tus/her hfespan

QUESTION 37
Which one of the foliowing statements according to Rogers’ theory Is the most accurate?

(1) Itis not what the significant other says or does, but how you perceive it that makes the difference

(2) Unconditional positive regard implies acceptance of the person and his or her behaviour

{3) Approval or disapproval is only conveyed verbally

{(4) The more conditional positive regard a person recetves, the less he or she incorporates condttions of
worth into his or her self-concept

QUESTION 38

In her book, The Journey, Brandon Bays describes the personal journey in which she heals herself from a
tumour without surgery At times in this experience, she had to dare not to take her doctor's advice in order
to continue to hsten to and believe in what her body was telling her it required her to do Which one of
Rogers’ charactenstics of the fully functioning person best describes Brandon’'s actions?

(1) Basic cautiousness and restraint
(2) Freedom from responsibility

(3) Increasing orgamsmic trust

(4) Defending against conformity
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QUESTION 39

Susan sees herself as someone who ts socially Incompetent Whenever she 1s in company, she either has
very little to say, tends to be rather short with others, or has the knack of rubbing people up the wrong way
In terms of Rogers' theory, these experiences are

) wgnored because they are rrelevant to her needs

)} denied because they are contrary to her self-concept

) allowed into consciousness because they correspond with her self-concept
) distorted because they correspond with her self-concept

{1
(2
(3
(4
QUESTION 40

According to Rogers, individuals are considered to be psychologically adjusted when

) they reach a static state where they expenence satisfaction, happiness and fulfiiment
} they allow all expenences inte the self-concept

y  tension i1s reduced and homeostasis 1s achieved

} they select defence mechanisms that minimally distort reality

QUESTIONS ON FRANKL’S THEORY

QUESTION 41

Frankl believes that a person's behaviour 1s motivated by

) the spintual core of the personality

) self-determining action
)
)

future-directedness
None of the above

{1
(2
3
(4

Read the following story carefuily, and then answer Questions 42 to 49 which follow

Rose grew up at a2 ime when the freedom and nghts of ali people were strongly advocated m
her country Her parents, however, strongly adhered to the tradiional values and culture of
therr forefathers A woman's place was In the home, she was expected to be subservieni to
her husband, to value the norms of her culture and not move outside of it in any direction of
her own Rose was in conflict Other youngsters were in open rebellion against the
restrictions of the past and were taking advantage of the opportunities that the new wave of
freedom n the country afforded them, especially in terms of education and careers of their
own choice Other youngsters indulged in revelry and even cnme, doing whatever took their
fancy Rose did not want to upset her parents, yet could not quench her own desire to
become a psychologist one day, a career totally foreign to her own culture She also
experienced moments of rebellion against certain cultural beliefs and norms which she felt
were unfair and that she herself could not embrace What was she to do?

{TURN OVER]
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QUESTION 42

According to Frankl, Rose was experiencing

(1) an unmistakable will to power

(2} her inherent wilf to meaning

(3) an unguenchable will to pleasure
(4) all of the above

QUESTION 43

The fact that Rose was in conflict, would be seen by Frankl as

(1) the inevitable clash between the drives of the id and the censures of the superege
(2) the inescapable result of the conflicting influences of her environment

(3) her awareness of her own freedom of choice

(4) atragic situation she could do nothing about

QUESTION 44

Rose observed, and expenenced in herself, different reactions to and beliefs about the new freedom in her
country Which one of the following reflects the view of Frankl regarding hurnan freedom?

1} Human bengs should unquestioningly adhere to norms of tradition and culture
2}  As human beings, we have the freedom and right to do what we like

3) Freedom s a curse because it causes conflict and confusion

4) Human beings have been given the freedom to be responsible

(
(
(
(

QUESTION 45

Rose was expenencing difficulty 1n accepting some of the traditional norms of her own people According to
Frankl's theory, Rose wanted to

(a) be accountable before her own conscience
(b) experience the meanings and values of hfe personally and in her own way
(c) dehantly mantain her own point of view and actualize her own potential no matter what

The correct answer Is

(1) (a) (b) and (c)
(2} (a) and (b)

@ (@

(4) (o)
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QUESTION 46

A logotherapist, reviewing Rose’s case, would say that

(1) Rose was seeking to establish a state of homeostasis in trying to resolve the tensions she was
experiencing

(2 Rose, 1n expenencing moments of rebelllon against the norms of her own culture, was being
adversely conditioned by her peers

(3) Rose was being challenged to find her own answers to the distress and conflict she was busy
expernencing

{4) Rosewas experiencing guilt because she was meant to treasure the norms and values of her culture

QUESTION 47

According to Frankl's view of optimal development, Rose s already manifesting some of the following
characteristics

(a) Self-determining action
{b) Humour

{c) Future directedness
(d) Self-actualisation

The correct answer s

(1)  (a)and (c)
(2) (a)and (d)
(3) (a). (b)and (d)
{(4) (a), (b)and (c)

QUESTION 48
Frankl would contend that If the therapist's goal is to help Rose to be happy

{1} he will succeed, since the only motivation of any human being 1s to be happy

(2) he will be on the nght track since you must first achieve happiness in life before you can expenence
meaning

{3) he will not succeed, because happiness cannct be pursued as an end, since it 1s an outflow of
fulfilling meaning

(4) he will have to do scmething about the situation which i1s causing Rose unhappiness, since there 1s no
way that Rose can find happiness if her environment remains unchanged

QUESTION 49

A logotherapist, in seeking to assist Rose to develop optimally, will encourage her to
{a) 1gnore the difficulties she finds herseif in

(b} find some future goal to strive towards

{c) laugh at the humorous side of her problems
(d) seethings as they are
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The correct answer 1S

(1) (a) (b), (c) and (d)
(2)  (b), (c) and (d)

(3) (a), (b) and (c)

(4} (b}and(c)
QUESTION 50

According to Franki the fully functioning person has certain characteristics When an individual can be
described as having moved beyond the self, outward-looking and dedicated to values and ideals, Frankl
would say that such an indmvidual 1s

self-determined

future directed

self-transcendent

appreciative of goodness, beauty and truth

QUESTIONS ON THE AFRICAN PERSPECTIVE

QUESTION 51

Do you think that it 1s relevant for South Africans to study the African perspective?

)

It 1s not relevant, as weil-researched, Western personality thecries have already been developed
to explain and describe human behawiour

It 1s relevant in South Africa to study the African perspective only, as first-world ideas do not really
apply to Afnca

It 1s relevant as most Afnicans are located on a continuum between a Western and a traditional
African onentation, and knowledge of both perspectives would therefore be important

It ts not refevant If the people of Africa want to be part of the First World, they should incorporate
Western Psychology mnto their thinking

QUESTION 52

The African view of humankind and worldview i1s based on

a holistic sense of interconnectedness between humans, God and nature, where humans are the
centre of the universe from which all can be understood and explained

a focus on individuals In terms of their unigueness as humans, and ther development in terms of
optimal or pathological functioning

rootedness in the past, staying in natural rhythm with tme, and striving towards the future

the human as a complete, separate psychological entity who 1s the centre of his or her own
subjective universe
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QUESTION 53

The practice of spilling beer as a gift to the ancestors by traditional Africans at feasts to ensure that the
ancestors will intercede on their behalf, refers to the (a) __ cosmos, which 1s the domain where (b)

(1} (a) macro- (b)sarcerers and genies reign

(2) (a) macro- (b)one reaches God through ancestors who are intermedianes
(3) (a) meso- {b) the survival of the community 1s emphasised

(4) (a) micre- (b) ancestors and spirits of specific pecple can be found
QUESTION 54

The interweawving of the tradittonal African’s identity with the identity of his or her family, clan, and tribe,
refers to the (a) ___, which is the sphere (b)

(1)
(2)
3
(4)

) macro-cosmos

) where the individual feels immersed in an all-pervasive religrous feeling

) maso-cosmos

) that emphasises the survival of the community

) MICro-cosmos

) of the individual's everyday life determined by the macro- and meso-cosmos
) Macro-cosmos

) where one reaches God through ancestors who are intermedianes

(a
{b
(a
b
{a
{b
{(a
{b

QUESTION 55

A traditional African named Peter contracts HIV/AIDS In terms of the African perspective, to what 1s he
maost hkely to aitnbute this sickness?

(1) Peter might attnbute this sickness to the meso-cosmos He therefore denies personal
respansibility

{2} Peter might attribute this sickness to the macro-cosmos He therefore assumes personal
responsibility

(3) Peter might attribute this sickness to the micro-cosmos He therefore assumes personal
responsibility

(4) Peter might attribute this sickness to the micro-cosmos He therefore denies personal
rasponsibility

QUESTION 56

Thoko 1s the sole breadwtnner in her family Her salary pays for her younger brother’s school fees, the
rent, food, and clothing In turn, Thoko's mother does her washing and she has a nice plate of food
waiting for her when she arrives home

In terms of the Afncan perspective, this exampie illustrates the values of

{1) cooperation, Interdependence and collective responsibibty

(2) mndmdual nghts, independence, and competition

(3) sympathy, individual survival and personal responsibility
{4) individuality, uniqueness, and respansibility
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QUESTION 57

According to the African perspectives, why do many traditional Africans prefer to wisit traditional healers
rather than Western doctors?

{a) Traditonal healers always make use of holistic thinking 1n their healing practices, while Western
doctors never work holistically

{b) Traditicnal healers explore the client’s relationship with the ancestors and neighbours while
Western doctors concentrate mamly on symptoms

{¢) Traditional healers focus on interpersonal relations because they know how important collective
life 1s 1n Africa, while Western doctors focus mainly on the individual

The correct answer 1s

(1 (a)

(2)  (a)&(b)

(3) (b)&(c)

4 (@), ()& ()
QUESTION 58

How 1s time conceptualised in the traditional Afncan perspective? Time 1s conceptualised in terms of the

{1}y past, present and future

(2) past, present and wirtually no future
{3) past and present

{4y present and virtually no future

QUESTION 59
According to Pasteur and Toldson, optimal functioning from an African perspective, refers to

(a) the harmonious interaction of the analytical and creative hemispheres of the brain

(b) a collective existence which offers a sense of secunty to Africans

(c) direct and iImmediate expression to all contents of the consciousness through cultural activities
{d) the accentuation of the indvidual’'s uniqueness and potentials

The correct answer 1S
{a) and (b)

{c) and (d)
{a), (b) and (c)
{&), (c) and (d)
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QUESTION 60

After the death of his brother, Tulan Is referred to you for psychotherapy As you are practicing within
the framework of the traditional African worldview, what would you advise his family to do in order to
help Tulam?

(1) They should allow him freedom to establish his own separate identity as his strong collective ties
has resulted in confusion for him over his brother's death

{2) They should encourage him to talk about his brother's death as much as possible so that he can
better analyse his response to this experience

{3) They should reassure him of the strength of the ties he has to his family and community, as this
will help him to feei less tense and anxious

{4) They should help him develop his defence mechamsm of sublimation sa that he can mourn his
brother 1s a socially acceptable way

[60]
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MARK READING SHEET INSTRUCTIONS

Your mark reading sheet s marked by computer and should therefore be filled in thoroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DO NOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the Blustration of a mark reading sheet on the reverse of this page and follow the instructions step by
step when working on your sheet

Instruction numbers 0 to @ refer to spaces on your mark reading sheet which you should fill in as
follows

(] ] Write your paper code 1n these eight squares, for instance

P{S|IY{1|0]0]-(X

®

The paper nvmber pertains only to first-level courses consisting of two papers

WRITE | O | 1 | for the first paperand { O | 2 | for the second If only one paper, then leave blank

Fill m your smhals and surname
Fill in the date of the examination

Fill in the name of the examnation centre

Q00D

WRITE the digits of your student number HORIZONTALLY (from lett to night} Begin by filling in the

first dignt of your student number in the first square on the left, then fill in the other diguts, each one n a
Separate square

in each vertical column mark the digit that corresponds to the digit in your student number as follows
[-]
WRITE your unique paper number HORIZONTALLY

NB Your umique paper number appears at the top of your exammation paper and consists only of digits
{e g 403326)

@ In each vertical column mark the digit that corresponds to the digit number in your unique paper

©

number as follows [-]

@ Question numbers | to 140 indicate corresponding question numbers 1n your exammation paper The

five spaces with digits | to 5 next to each question number indicate an alternative answer to each
question The spaces of which the number correspond to the answer you have chosen for each question
and should be marked as follows [-]

‘ For offictal use by the mwigilator Do not fill in any information here




